Warm up:
put at top of today’s assignment

Simplify. (No decimals.)
a. 2 /10 b, ~21
V3 0 2

c. V5446 d. J21-/3



Simplify. (No decimals.) warm-up

E. 5V3+643 F. X +y°

G. J45-4J20 H. ¥2-Y32



rationalize the denominator:

L = T

J5 - 2J6

Simplify: K. /12 /2

See next 3 slides to check your work!



Warm up:
put at top of today’s assignment

Simplify. (No decimals.)




Simplify. (No decimals. warm-up
S
E. 5V3+643 F. (X +y? )"
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rationalize the denominator:

IEE _ 205 ] 370
V505 g9 26 [t
Y _an
NCE - Ak
Simplify: K. Y12 %2 = %@ -

(£ 43)



Exponent Quiz coming soon!!

20 points
No notes
No calculator




